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Zi A A = A # A il £ K

Hh X 4 5 X i HH 5 X it HH 5 = it HH
il 2 1 13,973 14,536 28,509 13,064 597 692 1,289 876 14,570 15,228 29,798 13,708
= =} 1,412 1,476 2,888 1,158 6 20 26 19 1,418 1,496 2914 1,165
= = 3,115 3,279 6,394 2,673 68 94 162 128 3,183 3,373 6,556 2,770
F B 1,002 990 1,992 806 4 14 18 14 1,006 1,004 2,010 811
B & & 2,590 2,571 5,161 2,048 51 61 112 81 2,641 2,632 5,273 2,108
m H b 3,029 3,069 6,098 2,769 61 97 158 126 3,090 3,166 6,256 2,845
B & b 2,743 2,757 5,500 2,261 46 78 124 113 2,789 2,835 5,624 2,349
= = H 2,415 2,547 4,962 2,196 17 28 45 36 2,432 2,575 5,007 2,207
£ #A 720 813 1,533 725 1 4 5 4 721 817 1,538 726
= Eil 30,999 32,038 63,037 27,700 851/ 1,088 1939 1,397 31,850 33,126 64,976 28,689
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Hh A O i A O Hh A O H#h A O
R g | B % B e B gex | 8 [ £ | # #%|BE g | B [ & [ ¢  #ww|B gmR | B & |
il X 872 891 1,763 859 EEFHILEX 157 162 319 137 HERX 289 297 586 245 N — X 197 222 419 167
W F X | 1,312 1,389 2,701 1,270 .| 4t X 145 157 302 110 t #H X 326 304 630 273 INHZX 178 174 352 144
kR T X 221 250 4N 255| = BHEK 114 133 247 102 R EBRX 265 284 549 215 L] INH=X 285 295 580 231
= H K| 1,635 1,739 3,374| 1,457 BHIAK 337 359 696 272 AERRX 66 66 132 65 IPHERX 648 639| 1,287 618
7 ET X | 1,666| 1,804 3,470 1,691 b2 ih X 478 488 966 386 = B B X 346 359 705 267 = RE X 441 428 869 365
IR X 226 224 450 212| 2 B X 187 197 384 158 TEREX 399 415 814 285 E N 374 401 175 288
== 21 23 44 18 HERX 243 243 486 193 EH 2 X 353 331 684 261
F R X 62 60 122 50 X 5t | 1,418| 1,496| 2,914| 1,165 i REHEHX 394 358 752 308 pliy KX 231 235 466 208
U X 13 84 157 65 FIREX 135 127 262 110 BERX 82 80 162 65 T #H X 82 110 192 67
FIHTER 151 131 282 120 TREX 115 133 248 111 B B X 231 226 457 192
& X | 1,057 1,095 2,152| 1,046 mE X 176 189 365 136 X 5t | 2,789 2,835 5,624| 2,349
B & X | 1,124] 1,180 2,304 1,015 % FXRERX 229 248 477 194 H X &t | 2,641 2,632| 5,273| 2,108 5 = 842 859 1,701 735
B X 1,094| 1,123 2,217 928 XILERK 392 484 876 443 - £ B 322 338 660 292
mEeE X 880 928 1, 808 905 FERX 309 296 605 244 REHFHK 282 270 552 212|™| = % 125 112 237 121
EHHRKX 508 506 1,014 559 B X 181 171 352 124 & 1y i =3 127 139 266 119 % iR 312 318 630 321
T#HHRK 129 150 279 133 TERX 308 334 642 263 ORI =3 417 397 814 348 = G I 3) 831 948| 1,779 738
F #® X 834 882 1,716 738 FIFERX 612 683| 1, 295 516 =l 138 137 275 101
B BFERX 206 195 401 178 & THFEX 461 455 916 3% | H /K 317 340 657 276 X 5t | 2,432 2,575 5,007| 2,207
2B K 545 550 1,095 48717  H B X 186 173 359 134 & X 163 179 342 137 JE # 1 71 89 166 71
ERF X 465 469 934 421 A X 79 80 159 64 5 #h X 118 142 260 121 E B 253 327 580 294
AR X 404 396 800 322 i K&K | 1,470 1,508| 2,978| 1,478 #& 0 185 198 383 154
2 E X 217 267 484 238 H X £t | 3,183| 3, 373| 6,556| 2,770 " Er R 58 54 112 BIE 2K 67 70 137 58
ZE R 4t BT 38 34 12 30 === 32 36 68 40
I = 62 66 128 54 (= 279 259 538 218 H X &t | 3,090 3,166/ 6, 256| 2, 845 N H B #§ 76 67 143 68
FoERRX 768 792 1, 560 657 F }FORX 362 363 125 298 = ¥ B 25 29 54 35
0 TFREX 215 240 455 178 SH 6 1 7 6
H X Et | 14,570|15,228| 29, 798|13, 708 g /A FRX 150 142 292 117
X 5t 721 817| 1,538 726
H X £+ | 1,006| 1,004| 2,010 811 FEAFAst | 31,850(33, 126| 64, 97628, 689




